
Table 2. The Mass Spectrum of IG(JPC) = 0−(0−−) states.

M(MeV) Configurations [TS] combinations

B0
ω0(1390) [(1S1/2)

2][(1p1/2) (1S1/2)] [00][00]

B0
ω0(1585) [(1S1/2)

2][(1p1/2) (1S1/2)] [11][11]

B0
ω0(1725) [(1p1/2) (1S1/2)] [(1d3/2) (1S1/2)] [11][11]

B0
ω0(1735) [(1p1/2) (1S1/2)] [(1d3/2) (1S1/2)] [01][01]

Table 3. The Mass Spectrum of IG(JPC) = 1+(0−−) states.

M(MeV) Configurations [TS] combinations

B0
ρ0(1330) [(1S1/2)

2][(1p1/2) (1S1/2)] [00][10]

B0
ρ0(1585) [(1S1/2)

2][(1p1/2) (1S1/2)] [11][11]

B0
ρ0(1595) [(1S1/2)

2][(1p1/2) (1S1/2)] [11][01]

B0
ρ0(1725) [(1p1/2) (1S1/2)] [(1d3/2) (1S1/2)] [11][01],[11][11]

B0
ρ0(1735) [(1p1/2) (1S1/2)] [(1d3/2) (1S1/2)] [01][11]

Table 4. The Mass Spectrum of IG(JPC) = 0−(0+−) states.

M(MeV) Configurations [TS] combinations

B0
h0(1810) [(1S1/2)

2][(1d3/2) (1S1/2)] [11][11]
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Table 5. The Mass Spectrum of IG(JPC) = 1+(0+−) states.

M(MeV) Configurations [TS] combinations

B0
b0(1440) [(1p1/2) (1S1/2)]

2 [00][10]

B0
b0(1510) [(1p1/2) (1S1/2)]

2 [01][11]

B0
b0(1810) [(1S1/2)

2][(1d3/2) (1S1/2)] [11][01],[11][11]

B0
b0(1950) [(1d3/2) (1S1/2)]

2 [01][11],[02][12]

Table 6. The Mass Spectrum of IG(JPC) = 0−(2+−) states.

M(MeV) Configurations [TS] combinations

B0
h2(1615) [(1S1/2)

2][(1d3/2) (1S1/2)] [00][02]

B0
h2(1810) [(1S1/2)

2][(1d3/2) (1S1/2)] [11][11],[11][12]

B0
h2(1950) [(1d3/2) (1S1/2)]

2 [01][02],[11][12]

Table 7. The Mass Spectrum of IG(JPC) = 1+(2+−) states.

M(MeV) Configurations [TS] combinations

B0
b2(1510) [(1p1/2) (1S1/2)]

2 [01][11]

B0
b2(1615) [(1S1/2)

2][(1d3/2) (1S1/2)] [00][12]

B0
b2(1810) [(1S1/2)

2][(1d3/2) (1S1/2)] [11][01],[11][02],[11][11],[11][12]

B0
b2(1950) [(1d3/2) (1S1/2)]

2 [01][11],[01][12],[11][02],[11][12],[02][12]
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Table 8. The Mass Spectrum of IG(JPC) = 0+(1−+) states.

M(MeV) Configurations [TS] combinations

B0
η1(1400) [(1s1/2)

2][(1s1/2) (1p1/2)] [00][01]

B0
η1(1523) [(1s1/2)

2][(1s1/2) (1p1/2)] [11][10]

B0
η1(1585) [(1s1/2)

2][(1s1/2) (1p1/2)] [11][11]

B0
η1(1665) [(1s1/2) (1p1/2)][(1d3/2)(1s1/2)] [10][11]

B0
η1(1725) [(1s1/2) (1p1/2)][(1d3/2)(1s1/2)] [00][01],[11][11],[11][12]

B0
η1(1735) [(1s1/2) (1p1/2)][(1d3/2)(1s1/2)] [01][01],[01][02]
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